Dirac-FockU O OO O OO OOOOOO
HRERE

00190 20 130
goog,gdod

(0000 04380011,04380169)

gobbbbobbbouoooooobobbbbobbooduoooolgooooon
goboboogobbboooboboboooobbiboooobobbuoooooboon
OO00D00D00000o00o0oOobDObDOSchrodingerd 00000 ODOOOOO
000 Schrodinger 0000 DiracOOOO0OO0OO0ODOOOOODOODOODOODOO
O000DiracOODOD0O0ODOODOODOODOODDOODOODODODOOODOO
gboboboooobbbuoooobboooon
gobobob200000000000000000000O00OO0O0O0O0O0O0O0O0OO
gbobboogobbbugoobbboogooobuooooboboobood

02000000000000000DO00O0O0O0ODODODO0OOOOODOO0ODDOO
00000 1boobooboobuoobooboboboooooboooo
O0o00o0oo0oooboobobooobooobodn0oooboooDooloon
O0000odobob0obooooooooooooobooooooboooobon
0000000000 0o0obO0o0obOoobOooDoooooog
Ooododoodooboboboboboboooooooooooooobobobo
Jo0o0o0oboOobo0ob DiracO0O00D0DDODOO0O0O0O0O0O0OOOOODDODODOOODOODO
O0000000000 Schrodinger U0 O0O0O0O0OO0O0OOODOOOONDOOOOOO
J000000O0000000o0obobbbb0000o0o0UoobobbDO Hartree-Fock
O000000000000000HeODODO (D0 N=2)0000000 Hartree-Fock
J000o0b0ooooo NODOODODOOOOoOOoOoooNDOOOO Hartree-Fock O
ooooooon
Hartree-Fock OO OO 0O0O0O0O0O0O0OO0OO0OO0OO0OOO0OO0OO0OOOOODOOODO
OO0dbO0oboo0ob0obobOo0obobooooobDoobobooooDooboDbo
000000 Dirac-FockOOOOOOOOO SchrodingerD OO0 DiracOOO0DOOO
000000000000 bO0b0b00000oD0o0obUob0ob0ob0O0On Hartree-
FockO O Dirac-Fock DO O DODO0OODDODOOODOO0OOODOOOODOOOODODOO
Oo0oo0ooboobobooobobouooboboooonblDO0ObUObDOyO000O0
00000000 2000000 (I=000)0000000O0ODOO0O0OOOOOO
ooo0oboboooboobgobooboboboboooboooboobOooD
00000000 bO0o0b0o0oooooDbooboooobooboooooooDo
O0000000b0o0ob0oobo0boboobuoobUuondDirac-FockODO OO
O0O0000ooooooooooooon
O100b0gobo2000b00obooon



